Trigonometric Ratios
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Find £Ato the nearest tenth of a degree if:
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Find the measure of LA to the nearest tenth of a degree if:
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In the given right triangles, find the values of x and y. Give your answers
correct to the hundredths place.
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8.

In the given triangles, use trigonometry to find the values of x and y to the nearest

tenth. Check your answers by other means.
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9. Use trigonometry to answer each of the following:

a)

Aladder, 8 m long, leans against a wall and makes an angle of 60° with
the ground. How high up the wall does the ladder reach? How far from
the wall is the foot of the ladder?

Aman starts at O-and wishes to reach a point P, 300 m northeast of O.
It he gets to P by first walking due north and then due east, how far will
he have to walk in each direction?

From the top of a building 20 m high, a man watches people walking
along the street. If the angle of depression of the foot of a pedestrian is
80°, how far is the pedestrian from the foot of the building?

The shadow of a pole is 4 m long when the angle of elevation of the sun
is 60°. Find the length of the shadow when the angle of elevation of the
sun is 45°,

The length of the shadow of a 16 m tall tree is 8 m. What is the angle of
e!evatlon of the sun?

Aman whose eye is 1.5 m above the ground is standing 15 m from a
tree which is 12 m high. What is the angle of elevation of the top of the
tree from his eye? Give your answer cotrect to the nearest degree.
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